Name:

Answer key

Score:

CScientiﬁc Notation)

Mul/Div: ES1

L/ Simplify and express in scientific notation:

Example 1 Example 2
(6 x 10 (2 x 10%) 6
18x19° _ 18 y10°x 107
(6x10°)(2x10% = 12x10°%10° 4x10 4
— 12 % 10° = 4.5x10°
~ = 1.2x10°
Simplify each problem and express the answer in scientific notation.
)9 109 5) 3x10°
3 8x10
Answer : 6.3x 10" Answer : 3.75 x 107
9
3) Ax10° 4) 2x10% (3x10%
5% 10’
Answer : 8x 10 Answer : 6 x 107
5) (3x107) (9 x 109 g X0
16 x 107
Answer : 2.7 x 10" Answer : 2.5 x 10°
7 2x10° 8) (11 x 10% (7 x 10%)
10x 10° _
Answer : 9% 10 Answer : 7.7 x 107
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D Answer key

Score:

(Scientiﬁc Notation) Add/Sub: ES1

-

=

0]

0

J Simplify and express in scientific notation:
Example 1
(2x10% +(3x10°
= (2x10%+(3x10%)%x10
= (2x10% + (30 x 10%)
= 32%10"

’\ =3.2x10°

Example 2

(7 x 10%) - (4 x 10°

= (7x10% x 10°- (4 x 10°
= (700 x 10%) - (4 x 10°

= 696 x 10°

= 6.96 x 10°

Simplify each problem and express the answer in scientific notation.

0

0

Answer : 9.2 x 10°

= 3 5 8 7
1) (2x10°)+(5%x10) 2) 4x10%-(9x109
o=
=
@
Answer : 5.02x 10° Answer : 3.1x10°
| 3) (8x10%)-(3x%10" 4) (5% 107)+(1x10°
-
= Answer : 7.97 x 10° Answer : 5.1%x 107
= 5) (4x10)+(7x10% 6) (9x10%-(6x10%
] Answer : 7.4x10° Answer : 8.4x%x10°
| 7) (1x10%-(8%10% 8) (5x10°)+(3x10°%
>

Answer : 5.3 x 10°
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Practice
For use after Lesson 10.7

Find the sum or difference. Write your answer in scientific notation.

1. (2x10%) + (72 x10%) 2. (32x107%) + (9.4 x107)
a2 5 40 2.6x\0 "
| w2t 26 4107

3. (6.7x10°) - (43 x10°%) 4. (89x107) - (1.9%107%)

3M X0 7.0x107

Find the product or quotient. Write your answer in scientific notation.

5. (6x10%) x (4 x10°) 6. (9%107)x(9x107)
iy b o i el
24 x10 glxlo
2.4 x10" g X\O
7. (8x10°) + (2x10?) 8. (2.34x10°) + (7.8 x10°)
{ . e
Yx(o 0.5x10
. ~|
X 10
9. How many times greater is the radius of a basketball than the radius of a marble?
R pasicetiall
P ol L
- = | [U3x[0° CiH
Radius = 1.143 X 10" cm Radius =5 X 107'cm 1_7_)( \.O_,( CM

28 6 =)2.80xi0"]
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Name Period Date:

Operations with Scientific Notation

Add or Subtract the following numbers that are in scientific notation. Make sure
your final answer is in proper scientific notation.

- d
1) 5x103+4.3x104= Yg x(0” = YH.8xlo
\4’ .
g3 o3 "
2) 23x104-6x105= L [ X0

¥
0.b lc"”‘

— ¢
3)4x105+3.3x1“06= YTxio® = 3 7x10

33 x10%
4)7.2x1 i)j-z +53x10" MW G A G B A
T oy~ !
m)\ h\]*" L(‘.:L)\%)K'.L/ lo
' [U i ,(0_ ; lO
5)9.2x1010-8.4x1\f)” G 2XI0 —O0§4XIO = §.3bX
641 o'

Multiply or Divide the following numbers that are in scientific notation. Make sure
your final answer is in proper scientific notation.

A a
1) (3.5x105) x (4x103) = MX[DS/: LYY [O
2) (9x104)/(8x102) = '§XLOV
, P
o e 3 TXL0
3) (5x108)x (7x108= IC x O = W

4) (7.5x109) / 25x 109 = DX O

5) 4.5x109)/(2x108) = 2.2°S 5('\%37
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Operations with Scientific Notation

Simplify. Write each answer in scientific notation. Round to the nearest thousandth if needed.

1) (6x10°)(7x10")
H2x 0"
Tl

7x10°

5x10°
e

3) (4x10° )3 )
(LX) (UALS®)
256X10!
2 5px102)

4y (8x10*)(1.2x10°)
q.toxw”j

5 (9.1x10°)(7x10%)

(6320 |
d

Pgﬂy 6) (6x10°)

‘ U GRYXI0™

K

\M V(&'
ol

7) (35x10° )3 | |
(2.5x10°X 3. Sx(0?) (3.5x(07)

L 315w 107
2515« 1> [

1\ === =
w{3~\»8) (l7.6x103) :Q-ZX‘IO g
VAW B ’ —
O\\[/\WO (X6 Tox107) (T, bX(6Y)
S B wETET = 00080
(\ 5x 10
9) 3
4.26x10 4
| [THx][O
9.5x10°
10) _2
4x10
2.%’7S)<loq
4.5x 10°
11) 5
9.97 x 10 -
04N X0
Yix(9 |

12) (226x10%)(9x10*)

20.34x 0’%
2.034x 10 r;]

=
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